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o , P is the point (a, -2) and Qis (0, b).
If 7(x)=4x +3, what is the value of f (2) M(1, 2) is the midpoint of PO,
: What are the values of ¢ and b ?

A 22

3 26

D s S R

D 48 -

M B | 6
C 2 ~6
D 2 6

A sequence is detined by the recurrence relation «,,, =au, +4 and u, = 4.

Express u, interms of a and .

Ay =dat vab+h @ f(xy=2x" -4 and g(x)=1-x define functions on the set of real numbers.

B u.—4+2b
L ) (2N
C o =da* +a'h What is the value of f(g{2))"
D ., =2atvh A 4
B 3
C 0
D -2

The lines with the equations ax -2y +5=0 and 3x+vy—4 =0 are parallel.
What is the value ot a

A sequence is defined by the recurrence relation u,,, = M.:z =7 and n, =-2.
B -2 i What is the limit of this sequence as 1 —» x?
C ~
) 21
3 A -
D 3 2
7
B -
3
. . . o ; n N . 1
What is the minimum value of 4cos| x— 7 +6 e -
I
Do~
A 1O 24
B 9
¢ 3

D

[ ]




o
-~

¢ N
S ¢l
C,} /w
a 4 1=-=x & x 0} 10adsar yia /Jo a3uByd JO 9181 31 SLIBLYA

JSUINU B B ST X Iya © v - xp =(x) / Aq pauijep st fuolpuny sy | O

e
§]
13|
-V

i

>,

{€v) 1
(, Juafuey siy) Jo Jualpras 2yl S1 ey

"0 =x a1aym jutod 3y e umBIp S |-, XT =4 uopgenba yim damd 3i) 0) JaABUL) AL @)

m J3a.L100 3lE SJUIUIIEIS 1Oy 4

1994102 §1 (7) UBWAEIS Ajuo )

1021409 SI () JuswaieIs Ajuo g

1021100 s Juswiaslels Jstjisu Vv

¢ enay st SuImoyjo) syl Jo YoM

1ojjeded aae Aay . (T)

. ) jurod swies ayy e sixe-xayp M Iy (1)
(¥~ €)/ =4 uvopenba yum ydesd ap SMOYS swivideip Sumopo) ayl JO YoM SaUI1] JO 135 SI} JNOGE SJUSWIDIEIS 0AY) BIE 319] |
QEDORYMD

JO SaNjBA JUSI3JIP 10} Saul] JyBiens Jo 1as e ssuyyap = v +{ +2p uonenba ay g

& )
N 2
\ 0 \ (-9 D
s (s-'0) g
p (="¢-) v

L SJo mvamn_:u._COu m..: e umz\/) .:ﬁ:uuz_ E SISO
()7 =4 uonenba s worouny v 30 ydes oy o e saoys wesderp oL 2 (L= "DO PUe (€ “S)d (0 "0)0 18 53011104 SBU () () 9|FueL | @




y
M!l
1.

- i ' —
0 90 180 270 360

A

Which of the following could be the equation of the graph ?

y=1+sinx"

o -

y=1-sinx’

y=2-cosx’

o

D y=2cosx’~1I

sequence is defined by the recurrence relation u,,, =0-5u, +2 and u,

Here are two statements about this sequence:

(1
(2

) A limit exists for this sequence.

) No term in the sequence is greater than 8.

Which of the following is true 7

A
B

neither statement is correct
only statement (1) is correct
only statement (2) is correct

both statements are correct

@ f(x)=ax? -2x—5 has a stationary value where x=3.
What is the value of a ?
A
B 0
1
C -
3
1
D -
9

17) A straight line passes through the points P(=5, =2) and Q(-2, ~1).
What is the equation of the straight line which passes through P and is perpendicular to

PQ?

A y+2=-3(x+5)
B y-2=-2(x-5)
C y-1=-1(x-2)
D y-l=-:(x-2)

@ The line joining the points (—2, -3) and (6, k) has gradient
What is the value of & ?
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